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MATHEMATICS
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GENERAL INSTRUCTIONS / R et :
1. Carefully fill in the necessary particulars on the OMR Answer

Sheet.
WEYE g Tl
2. Put in your full sj heet in the space
provided.
|
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carries 1 mark.
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1. Set is defined as

(1)  collection of objects

% well defined collection of objects
S .

(3) nothing can be said

(4} none of thesé

£ AR '%Fﬂ§QWﬁﬁﬂ$mﬁﬁ%l
1) Tt & W

2) aeqall & gaRwiNd €78

(3) o o T TS THA
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2. If the set A contains 5 elements, then the number of elements

——

in the power set P(A) is
(1) 25 | @ 16
9 32 | _&}/ 8
| .-ﬂ%WAﬁSW%,H}WﬁFW P(é}ﬁmﬁaﬁﬁw%
(1) 25 (2) 16 |
3) 32 | @ s
3. If Aand Bare two sets such that ANBz A, then AUB=

/m ¢ 2) A

3 B~ (4) None of these
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i A a1 Ba’rmwm%%ﬁ ANB=A,d AUB=

(1) ¢ (2). A

3 B | ) (@) T @ HE R
4.  De Morgan's law (ffiLJJE;)']r =

‘)),} A'NB 2 A'UB

(3) | ¢ | o (4) None of these

2 oA R (AUBY =

.y A'nB @ A'UB

(3) 6 X (4) 'Flﬁﬁﬁbﬁ';lﬁ

if A={a, b, c} and B={p, g, r}, then n(AxB)=

(1 8 @ 5

@) 2 9 4 9
!
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A< A={a, b, c} @1 B={p, q, r}, & n(AxB)=
(1) 8 (2) S
3 2° 4 9
6.

If f(x)=x2+2x+1, then the value of f( 0 )is
B{ 0

3y 1

- B

(2) 4

ey -

Ak f(x)=xZ+2x+1,d £(0) F AR 2

(1) O 2) 4
3) 1 4 -1
1 radian =
Y 1aee () 180
. / . L
(3) / 180° (4) 360°
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1 eam =
1 T o
{ ) 180° (2] IBnO
(3) 180° @) 360°
8. sin( 3—1_3 ) =
3
1S
(I] f,./ —J__—-S-l (2] JE
oo
3
@G % @ 2
9 cos10°+sinl0®
' cos10°—sinl0°
(1)) tan 53°, .~ (2) tan 35°
P =
(3) tan 45° l4| tan 10°

10. . The general solution of tan3x=1 is

T 2 nn, n
1t
3y n=n (4) nnt 13
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11.

12.

tan3x=1 T ATH & &

T
(1) rm+4

(3) nm

12 4i% =

(1) positive _-

Z
@ o

+it=

12
(1) oTH®
3 O

15J§+i|=

(1) 1

3) 4
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(2)

(4)

"E\.ﬁ\
Pl
y B
—
b
—

(4)

@

(@)

(2)

(4)
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13. The polar form of a complex number is

(1) sin®+icos8 (2) cosB+isin®

(3) r(cos6+isin0) . (4 r(sinO+icosb)

U Qftny GE 1 e w9 E
(1) sin®+icos0 (2) cosB+isin
(3) r(cosﬁ+isin‘6} (4) r(sin®+icos6)

14. = Solve : x2;|-2x+10='0.
1) -1%3i— (2) 1% 4
3 530 4) 2 i
& x2+2x+10=0.-
(1) -1 3i S (2) 1% 4

3) 5 % 3i 4) 2+
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15, Solution of 3(2-x)-2 2(1-x) is
(1) (=, 4) | (2 (=, -4)
B)  (~w,4) - W@ (o-4)
3(2-x) 22(1-x) WEAE
(1) (m,‘;) (2) (-, -4)

@) (-=,4) @) (-4

| 1 1 _ x
16. HJ_5+LZ_ I_S,thenﬁndx.

(1) 5S4 (2) 44

(3) 74 ‘ﬂ/ 64 —
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£

BRI l1_§+lll= "%,Fﬁxiﬂﬁﬁﬁm
(1) 54 (2) 44
| 3 74 . (4) 354 :
17. "P=
0 B @) —,';’l_‘r “ 0
3) Er (4)  none of these
p -
A F £x: @) rli,_rir
© o | @) AW
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18.

19.

If nCS = nC';n then n =

| [1,' . - 2 7
3 12 | 4 O
af nc, = nc,, W n-

(1) . s @ 7
(3) 12 ' 4) 0

. _
If I"(3‘3:"'C3 =12:1, then n =

1y 7 @ 3
3} )
% 5 @ 2

2n .
qﬁ‘ Ca.ncs=12;]_"(-'|:"n=

(1) 7
2) 3

3) s -
4 2
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20. The number of terms in the expansion of (1+542 x)° is

21.

<>
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———a n
J—

(1) S (zj 7

3) 6 4 10 7
(1+5V2 x)° aﬁmﬂﬁ%uﬁaﬁa‘tﬂ &

(1) 5 _ (2 7

@ 6 (4) 10

The rth term in the expansion of (1+x)"is

(1) "c, . x" . ~ o (2)

3 "C._, x 4).

(]_+x]n QEWT:’[ ra\"l"qaf%
W vex o

r

3) "C,, x (4)
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22. The 10th term of a sequence whose 7th and 12th terms are

34 and 64 respectively is
(1) 42 (2) 52
(3} 63 (4) 36

frdt e/ & 7 o SR 12 & U5 HAI: 34 a°1 64 &, a IHT 10 o

e
(1) 42 - 2 s2.
(3) 63 Ce @4 36

23. If 1+2+2%+2%3+..+42"! =255, then the value of n will be -
(1) 6 20 7

@ s ¢ 4 5
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AL 142422423 4+ 4271 2055 A 5, F TE FW

(1) 6 | 2)

@ 8 @

T

o

For any two positive numbers, we have

(1) AM<GM (2)
7

@) AM= oM (4)

ferl 3 wATeTs dema & fem

(1) AMS<GM (2)

@ AM= 3GM ()

AM 2 GM

—

none of these

AM >GM

w1 @ B

The slope of the line joining the points (3,-2 ) and (3, 4 ) is

m o e 4

3 © \dg l .' @
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g 1424224234 4271 Zo55 @ n w1 AE

(1) 6

3) 8

2 -7

4) S

24. For any two positive numbers, we have

(1) AMSsSGM E’ AM 2GM
(3) AM= %GM (4) none of these
frl gy HEnai & fee

(1) AMSGM (2) AM2GM

@) AM= %GM (4) T ¥ &I Tl

25. The slope of th

1ny o

e line joining the points (3, -2 ) and ( 3, 4)is

2y 4

. (4) not defined
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fomgatt (3, -2) @9 (3, 4 ) &I Sitg arelt Y@ H oA &

(1) o (2) 4
3 6 (4) 9IRS =@
26. .H 3x-4y+7=0 and ax+6y+1 =0are perpendicular, then a =
(1) 4 2) 5
(3) 10 (4) 8
AR 3x-4y+7=0 T ax+6y+1=0 T=FA &, @ a =
() 4 2) 5
3) 10 (4) 8

27. The equation of the straight line which passes through the

point (4, 3 ) and parallel to the line 3x+ 4y=12 is
(1) 3x+4y=10 (2)  3x+4y=24 _

(3] 3x+4y-‘20=0 (4] 33\'.:-49' +24=0
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PIE‘7"(4 3)116{1#611?%3%%@7 Bx+4y=12 %Ww%@aﬂ

(1)  3x+4y =10 (2) 3x+4y =24

(3)  3x+4y-20=0 (4) '3x_4y+24=0

28. The distance between the parallel lines ax+by+c =0 and

ax+by+d =0 is

d—-c d-c
o Ja?+b?| v = a® - b?
(3) ‘j;g" (4) d-c

R @3l ax+by+c =0 T4 ax+by+d =0 %Eﬁﬂﬁ?j’f%

d-c (2) d—c
2 Ja?+b° ya? - b?
(3) tj;—E | ' 4y d-c
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29. The equation of the circle whose radius is 4 ‘and centre is

(0,1)is
1) x*+y?%=16 2  x%+(y-1)%=16
B)  (x-12+y?=16 4)  x*+(y+1)? =16

qamﬂﬁ}wwﬁmﬁw:maréﬁf(o,”%,%

2
(1) x*+y*=16 2 x*+(y-1)2=16

3)  (x-12+y2=16 @) x?+(y+1)? =16

30 The focus of the parabola x2=16y is
(1)  (0,2) @ (0,4) -

(3) (2,0) 4)  (4,0)
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AT x2 =16y F AR

(1) (0,2) @ (0,4)

@ (2,0) 4 (4,0)
2 2
31.  The eccentricity ofthe e]hpsc-—6+1£6 lis
6 v6
n = o
> @ 2 -
: 20
(3) X=— 4 2
6 /6

ﬂﬁ?ﬁ—z+yg—1ﬁ3ﬁﬁm%

36
6 J6
) == @ I
20

XSC-MAT-(OPT.)-SC 19 / 24



" MAT
ELVN/3/33048 @ Science/Commerce

32.

33.

34.

. The distance between the points (2, 3, 5) and ( 4,_3, 1)is

1 25 7 | 2) 3Y5
(3)  5v2 (4) none of these
%@aﬁ(z,s,smm(mé,n%aﬁaaﬁqﬁ%
(1) 25 | ) 3V5

® 52 @) I FE

lim x> -2x* _
X>2 42 _5x+6

(1) 4 2) 0

3 -4 4) 2
lim «1+x -1

x—=>0" x

(1 -1 @

@ 3 @
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335.

36.

37.

38.

lim Sindx
x =0 tan2x
\

(1) 2' ~ (2) 4

@ 3 @ 14

d—i— cot;x =

(1) cosec?x (2) - cosec?x
(3) tanx (4)  sec®x

d .
—— (sinx. cosx) =

dx
(1) sin2x (2) tan2x
(3) cCos2x (4) 1

If mean of 15 terms is 6, then the sum of all the terms is

1) 90 — ) 30

(3) 10 (4) 900
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39.

g 15 o & AT 6 &, A Wit o7 F1 AT @

(1) 90 (2) ~ 30

@ 10 4) 900

If E is an impossible event, then P(E) =

4 o 2) 4
@) 16 I
H%E@_mmm%,mp(fs):
(1) o (2)

(3) 16 @ 2
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40.

A bag contains 5 white and 7 red balls.

drawing a red ball is

S 7
1 @ 5

S 7
@ 2 S

MAT
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The probability of

UH 9 4 5 I T4 7 AA 78 €1 TF oA 17 Heprer il Wigway &

=l 7
(1) 12 (2) 12

(3)

~Jjn

O
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